FUBAG

BS 10000 ES (568204)

1
>
s
H(z}‘lfp KO/ HaMMEeHOBaHMe KOJI-BO
1 2.63.01.01756 6ot M6x12 8
2 2.50.01.005600 KPBIIIKA TOJIOBKY IIIWHApA (TipaBast) 1
3 2.60.09.002000 IIPOKJIAJKA KPBILIKY KJlaraHa 2
4 2.50.09.001400 (ukcaTop kiamnaHa 4
5 2.50.10.000200 MPOKJIaJIKa BITyCKHOTO KJIaraHa 2
6 2.50.09.000600 Mpy>KUHA KJIanaHa 4
7 2.50.01.005700 KPBIIIKA TOJOBKHU LIMJIMHApPA (JIeBast) 1
8 2.50.09.000400 IIpyKUHa KJ1araHa 4
9 2.51.07.001100 npoOKa MacJI03aIMBHOM TOPJIOBUHEI 1
10 2.50.04.001200 BBIITYCKHOM KJIalaH 2
11 2.50.03.001700 BIIYCKHOM KJIamaH 2
12 2.53.06.001800 cBeua 3axuranusa F7TC 2
13 2.50.02.003800 KPIOK 2
14 2.50.02.003900 TOJIOBKA IIMIIMHIpA (TIpaBasi) 1
15 2.60.08.005700 IIPOKJIAJIKA TOJIOBKY LIUJIMHAPA 2
16 2.63.01.00405 mrugpt G12x20 4
17 2.50.07.001400 HIaTyH 4
18 2.50.05.001400 KOPOMBICTIO KJ1armaHa B coope 4




19 2.50.06.000200 OCHOBaHUE KOpOMBICTIa 2
20 2.63.01.02033 6ot GB/T 5789-1986 M10*80 8
21 2.63.01.02494 6ont GB/T 5789-1986-M6*12 2
22 2.50.01.005800 KOXKYX (JICBBIif) 1
23 2.50.02.004000 TOJIOBKA IMJIMHJIpa (JIeBast) 1
24 2.63.01.02024 oot 37-M6*25 1
25 2.50.01.006700 KOXKYX (IIpaBblii) 1
26 2.50.09.000700 MpY’KUHA KJIalaHa 2
14
Hi’;‘rfp KOt HaMMeHOBaHMe KOJI-BO

1 2.63.01.01530 6ot M8x50 4
2 2.50.16.002500 KOJUIEKTOP BILYyCKHOM 1
3 2.60.02.002300 MPOKJIA/IKa BITyCKHOTO KOJUIEKTOpa 2
4 2.60.04.002600 MpOKJIaJiKa KaporopaTtopa 3
5 2.50.13.003200 TpyOKa camyHa 1
6 2.55.02.002700 aganrtep kapOropaTopa 1
7 2.54.03.003700 Jpoccelib 85Smm 1
8 2.62.01.011400 phIuar apoccens 1
9 2.55.01.022300 KapOroparop 1
10 2.62.01.010800 3aKUM MPYKUHHBIA O18 2




11 2.50.11.014100 KOPIyC BO3AYIIHOTO (UIBTpa 1
12 2.63.01.03011 601t M6x90 4
13 2.63.01.02026 6ont M6x%30 4
14 2.50.16.002300 BaJIMK BO3YILIHOTO (pUITBTpa 1
15 2.50.11.014101 KapTPHUDK BO3AYIIHOTO (GUIIBTpa 1
nomep o ERT—— —_—
1 2.51.02.001400 HIecTepHs cTaduiIM3a 000poOTOB 1
2 2.63.01.02036 6ont M6x16 2
3 2.55.01.019400 HacoC MacJIsTHbIN 1
4 2.63.01.02041 mraiiba GB/T 97.1-2002 § 38.5* § 54*1/65 1
5 2.60.01.003600 MPOKJIaJIKa KPBIIIKHA KapTepa 1
6 2.63.01.02030 6ont M8*16 3
7 2.55.01.019600 JKpaH calyHa 1
8 2.51.05.003600 KpBIILIKA KapTepa 1
9 2.63.01.00391 6ot M8x50 9
10 2.51.06.003100 Iy 1
11 2.09.01.005800 O-xomnbuo @13.2%2.65 1
12 2.51.17.004300 casnibHuk GB/T 9877.1-1988-38*58*8 1
13 2.63.01.01047 mrugt 10%12 2




/i KOZI HaMMeHOBaHVe KOJI-BO
1 2.51.16.005200 pacnpeBain 1
2 2.63.01.02039 mraiiba GB/T 97.1-2002- § 17.5* § 26*1/65 1
3 2.51.15.025000 KoJsieHBaJI 35.5mm 1
4 2.51.12.003600 HIaTyH 2
5 2.51.10.000100 KOJIBIIO CTOIIOPHOE 4
6 2.51.09.001300 najier MopuIHeBOU 2
7 2.51.08.002200 MOpUIEHb 2
8 2.51.11.003200 Ha0Op MOPIIHEBBIX KOJIEIl 2




2.63.01.02028

ooir M6%x16

/i KO/ HaVMeHOBaHMe KOJI-BO
1 2.63.01.02023 raiika M20x1.5 1
2 2.53.02.006300 KaTyIlIKa 3a)KUraHus (JieBas) 1
3 2.62.02.008500 IJIaCTUHA JIOMACTH 1
4 2.52.04.001900 KpbUIbYATKA OXJIAXKICHHS 1
5 2.53.01.007400 MaxXOBUK 1
6 2.63.01.01934 601t M6x30 4
7 2.53.02.006400 KaTylIllKa 3a)KUraHus (1pasas) 1

]

« / »

} 4
11
f&
10 d
Homep KO/ HaMMEeHOBaHMe KO0J1-BO
n/n

1 2.51.01.005900 KapTep 1
2 2.63.01.02038 maiioa GB/T 97.1-2002- § 14.2%* § 22*2 2
3 2.63.01.02025 6ont cnmuBHoOMt GB/T16674.2-2004-M14*15 2
4 2.63.01.02030 6onT M8x16 2
5 2.63.02.015200 noamuHuk 6003 1
6 2.50.05.001100 KOPOMBICIIO 1
7 2.63.01.00567 mrudt G8x10 1
8




9 2.51.04.003300 ITaTYUK Macia 1
10 2.63.01.02030 6ont GB/T 5789-1986-M8*16 2
11 2.63.01.02306 6ont GB/T 5789-1986-M6*25 8
S
q .1
13
16 11 & l/
. o VYN
- . X
| a= ;
) 'l'.i--"
I.'fi-f %“'*:; *o
I|I ~ 4 p
.I -

H(I)_Il;lrfp Koo HaMMeHOBaHMe KOJI-BO
1 2.50.01.006100 KOXYX T'OJIOBKM LIMJIMH/IpaA (IIpaBblii) 1
2 2.63.01.02494 6ont M6x12 4
3 2.62.01.012900 XOMYT 1
4 2.55.01.019300 pazuaTop 1
5 2.63.01.02306 6ont M6x25 2
6 2.55.01.019500 GWIBTP MaCIISTHBIN 1
7 2.55.06.018800 TpyOKa @9*p17*400mm 3
8 2.63.01.02026 6ot M6x%30 3

KPOHUITEHH MACIsIHOTO pajnaTopa
9 2.09.01.005700 011.2%2.65 2
10 2.55.07.004000 3aKUM NPYKUHHBIN @14 2
32)KMM TOIJIMBHOTI'O IIIJTAHTa
11 2.55.06.018900 09%017*450mm 2
12 2.62.01.012600 drica 1
TOp MPOBOAA
13 2.62.02.008400 MPY’KUHA MACIIIHOT'O Hacoca 1
14 2.06.04.035400 LIApHUK CTaIbHOH 9.5 1
15 2.55.07.004500 00pyu O12-020 2




| 16 | 2.63.01.00498 npoKanKa amomuaAesas 10%17*1 1
0
H‘I’;}‘rfp Ko HaMMeHOBaHMe KOJ-BO
1 2.51.03.001000 BaJl IECTEPHU 1
2 2.63.01.01567 LITUTUHT 2
3 2.51.17.002400 canbHUK 8*14*5 1
4 2.63.02.015700 noamumank HK0808 2
5 2.63.01.02037 maiica GB/T 97.1-2002 ¢ 8.5* § 17*1/65 3
6 2.54.02.004300 npyxuHa peryisatopa 116mm/50HZ 1
7 2.54.02.004400 MPY’KUHA PETYIIATOPA 1
8 2.54.02.005300 JpoccenbHas Npy>KUHa BO3BpaTa 1
9 2.54.01.008900 IIPUBO/] BO3AYLIHON 3aCJIOHKH 1
10 2.54.03.002900 TATa 1
11 2.54.04.003100 ppiyar 1
12 2.62.01.011200 Mpy>KUHA 1
13 2.63.01.02494 6ont M6x12 3




HOMep

KOoJI,

HaMMeHOBaHMEe

KO0JI-BO

n/m
1 2.63.01.02044 mmibka M6x102 4
2 2.63.01.02494 o6ont M6x12 3
3 2.52.06.002600 KOXYX (ITpaBblii) 1
4 2.51.17.004300 canbHUK O38xD58x%8 1
5 2.63.01.02028 6ont M6x16 2
6 2.63.01.02026 601TM6%30 1
7 2.53.07.001200 10000070501 (53)1 3 1
8 2.63.01.02026 601t M6x30 1
9 2.50.10.002100 KpBIILIKA CalyHa 1
10 2.50.10.002401 IJIaCTUHA callyHa 1
11 2.60.10.002800 MPOKJIA/AKa KPBIIIKHU CallyHa 2
12 2.50.10.002200 3KpaH camyHa lmm 1




H‘I’;}‘r‘fp Kon HaMMeHOBaHMe KOJI-BO
1 2.55.07.003600 3aKUM MPYKUHHBIN (9.8 1
2 2.55.06.017700 (P4_5I:<I(J;§I.{SF*T1%?—IE(I;5H*B($* 15 2
3 2.55.06.017800 @4.511331‘1;221611/(1;5}1:(;17;*25 1
4 2.55.01.005800 (GUIBTP TOTTUBHBIN 1
5 2.55.06.017900 IJIAHT TOTUIUBHBIN 04.5*(8.5%240+40 1
6 2.63.01.02026 6ont M6x30 2
7 2.53.03.005100 KaTylIlKa 3apsIKu 1
8 2.63.01.02032 6oaT M8x110 2
9 2.63.01.00329 mrudt O8x12 2
10 2.52.02.001700 3JIEKTPOCTapTEP 1
11 2.51.04.002500 COCIMHUTEIILHOE YCTPONUCTBO BBITPSIMUTEISI 1
12 2.63.01.02016 raiika M5 1
13 2.63.01.02494 6ot M6x12 4
14 2.50.01.006000 KOXYX TOJIOBKH HUJIHHJIpA (JIEBBIN) 1
15 2.55.07.003800 3aKUM TMIPYKUHHBIN (8 2
16 2.55.07.003600 3aKUM MPYKUHHBIN (9.8 5




HOMep

H/I'I KoL HaMMeHOBaHMeEe KOJI-BO
1 2.63.01.00291 raiika M6 6
) 752.01.102800 KpBII]_IKa-I[eQ)HGKT(()I[I)p(;);J;i))K,HeHI/IH JIBUTATEIIS 1
3 2.63.01.02494 6ot M6x12 3
4 2.52.06.002500 KOXYX (JICBBIH) 1
5 2.63.01.02026 6ot M6x%30 2
6 2.63.01.02035 BHUHT 4.2%20 2
7 2.52.01.096700 3acJIOHKa 1
8 2.62.01.010900 roJioKa pe(‘;?;?:g‘fﬁgfi;‘fope3“‘*°13a" 2
9 2.55.01.018900 KPOHIITEIH TOIJIMBHOI'O Hacoca 1
10 2.55.01.015600 HACOC TOTUTUBHBIN 1
11 2.63.01.02494 6ot M6x12 2




HOMep

H/I'I Koo HaMMeHOBaHMe KO0JI-BO
1 2.63.01.00570 oot -M6*12 8
2 2.56.07.011600 KPBITIKa 1
3 2.56.03.006101 LIETKH YrOJbHbIE 1
4 2.62.01.002300 KOJIOJIKa KOHTaKTHas 1
5 2.62.02.009000 LITAHT U 4
6 2.63.01.03043 boxt CTal\T/ffg*?fo/ff; 582'1986' 4
7 2.63.01.00125 Gont pOITv‘[’Il’g*GZ];’g 1?;22'2000' 1
8 2.63.01.00444-1 maiiba -GB/T 97.1-2002-10*30*4
9 2.63.01.01762 raiika GB/T 6177.2-2000-M10%*1.25 6
10 2.56.05.001600 Ccynnopt anbTepHaropa ¢270 1
11 2.56.03.008700 CTaTop M poTOp 1
12 2.63.01.02767 6ont GB/T 16674.2-2004-M10*35*1.25 4
13 2.56.05.001700 KpBIILIKA [IEpeIHAs aJbTepHaTOpa 1
14 2.63.01.01762 raiika /GB/T 6177.2-2000-M10*1.25 4
15 2.63.01.00287 raiika GB/T 6170-2000-M8 4




noep xon — om0
1 2.63.01.01705 maitba GB/T 93-1987-¢8 4
2 2.63.01.00287 raiika GB/T 6170-2000-M8 4
3 2.60.03.001900 MIPOKJIAJKA Ty ILIUTEIS 2
4 2.50.12.024400 [Ty IIUTENb 1




HOMep

/i KO/ HauMeHOBaHMe KOJI-BO
1 2.55.07.001000 3aKMM TOTTUBHOTO IIUTAHTA 2
2 2.62.01.013300 nutadr roppupoBanubiil G10*800 1
3 2.55.06.019000 nutadr 4.5*e8*900 1
4 2.55.08.000700 KHOTIKA BKJI/BBIKII 1
5 2.63.01.01812 MPOKJIaJKa TOTUTUBHOTO Oaka 6*25%2 4
6 2.63.01.00914 6ont GB/T 16674.1-2004-M6*25 4
7 2.55.05.091200 TOTUTUBHBIN Oak 1
8 2.55.05.024801 KPBIIIKA TOTUTMBHOTO Oaka 1
9 2.55.05.026001 bubTp 1

12

1

N
b

Hoep Kon rauseropanme Ko7-80
1 2.57.04.039700 IUTACTHHA U30JIMPYIOILas 1
2 2.63.01.01756 6ont GB/T16674.1-2004-M6*12 4
3 2.57.04.029200 KOJIBIIO 2
4 2.63.01.01756 6oatr GB/T16674.1-2004-M6*12 4
5 2.63.01.01795 raiika GB/T 6177.1-2000-M8 2
6 2.57.04.039900 HaIpaBJIstoas 1
7 2.57.04.040100 [IapHUP 2
8 2.63.01.00291 raiika GB/T 6177.1-2000-M6 8
9 2.57.04.039800 KPBIIIKA BEPXHSISA |




10 2.63.01.03032 BuHT GB/T 818-2000-M4*10 2
11 2.57.04.034300 pyuka 1
12 2.60.10.003400 npokiaaka 500*180 2
13 2.60.10.003500 npoknaaka 350*70 1

H(:yrfp KO/ HAMMEeHOBaHMe KOJI-BO
1 2.57.01.056000 pama 1
2 2.57.04.039600 MaHeb 3aIHss 1
3 2.63.01.00570 6ont GB/T16674.1-2004-M6*12 8
4 2.57.04.039500 MaHeJb NepeaHsIs 1
5 2.63.01.02766 raiika-6apamexk GB/T 62.1-2004- M6 2
6 2.57.04.040200 miacTuHa 6arapee 1
7 2.63.01.03021 OOJNT TIIAaCTHHBI OaTapen 2
8 2.10.06.002400 3aKHM 1
9 7.56.10.008700 kabenb (-) aK%I(\)/Ir};?]/ngHOﬁ Oatapeun 1
10 2.56.09.000500 AKKyMYJISITOD 1
11 2.56.10.008800 Kadem, (+) aKggg‘nfz/Tl%pHOﬁ Oarapen 1
12 2.57.04.039000 MJIaCTUHA TIEPEaHSA 1




\ 13 \ 2.63.01.01756 6ot GB/T 16674.1-2004-M6*12 \ 4

Hi::}‘;p KO/ HAUMeEHOBaHHe KO0J1-BO
1 2.63.01.01808 6ont GB/T16674.1-2004-M8*16 42
2 2.61.03.000100 KOJIECO YHHUBEpCanbHOE ¢ TopmMo3oM 100%*32 2
3 2.61.03.000200 KoJieco Hampasisroniee 100%*32 2
4 2.61.05.003600 IJIOIIA/IKa KpEeTUIeHUs KoJieca 4
5 2.63.01.00287 raiika GB/T 6170-2000-M8 16
6 2.57.04.040000 paMa HUXKHSA 1
7 2.63.01.02767 6ont GB/T 16674.2-2004-M10*35*1.25 2




1516 1? IJ
T ST =
5%1?'-5 R__”; 'ﬂ’&. . [ -
1',_.'-1? ‘#-_ iy 5 3 F i t
"l x . " SO
. o = ﬁ‘:‘- '
) U e 3
H‘I’;}‘;P Kot HaMMeHOBaHMe KOJI-BO
1 2.56.01.157000 naHesb B coope 1
2 2.56.01.158001 KpBILLIKA [IepeIHeN TaHeIu 1
3 2.56.01.158002 kJIeMMHHUK AC 2
4 2.63.01.00163-2 6ont GB/T 16674.1-2004-M5*16 2
5 2.56.04.002000 ABP 230V 1
6 2.63.01.00570 oont GB/T16674.1-2004-M6*12 12
7 2.63.01.00302 BuHT GB/T 818-2000-M4*12 6
8 2.56.01.157001 BEIKITIOYaTelnsb 41A/50 1
9 2.56.01.158003 OONT U TaiiKka 3a3eMJIICHUS 1
10 2.56.01.072701 kieMMHHUK DC 1
11 2.63.01.00302 BuHT GB/T 818-2000-M4*12 6
12 2.63.01.00267 raiika GB/T 6170-2000-M4 6
13 2.56.01.042304 BUJIKA 3
14 2.56.02.001500 HITeKep 1
15 2.56.01.158004 npeaoxpaHuTens 16A 3
16 2.62.02.000500 Ipoccenb kabemns 1
17 2.56.01.158005 mucmiaeit GDP-1 1
18 2.56.01.011901 3aMOK 3axuraHus (6e3 Kiouei) 1
19 2.56.01.158008 naHelb 1
20 2.56.01.158006 KPBIIIIKa 1
21 2.56.01.158007 po3etka 32A 1
22 2.62.01.009800 TpyOKa ruractukoBas (24*170 1




23

2.56.02.001200

BHJIKA 32A

24

2.56.02.000600

BUJIKaA




